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NOTE.  Five qguest L vl vy N,
P AR RIAVAN

L. What passages open o
pharynx - State their rvelative position and
functions,

Explain the structure of the pelvis morelation o

the spine and the lower limbs,  What
\A‘!‘\\'ts ’l_\' i~ P aliar form -

3. State what vou hnow of the tollonwing, o~ 1
position and function @ hivoid bone, othnoid hore,

liver
medulla oblongata. colon, pa

ta.
LN ture o
dea of the

ervas, epiglottis, aom

£, How would you proce that hone is
ecarthy and animal matterr  Give some
mode in which these two ave distributed.
nourishment of bone provided for -

5. Explain the signiticance of the terms
organ, function, secretion, ferment.

6. State what you can as to the supposed action of
aleohol as a stimulant.”™  What orgins
lnted ™ and with what result »

Aale Utstuna-

ENGLisu LaNcurace,
Claxs, [, Time, lecnp, i tes,
L Analyze both generally and particulariy:
l"AlVl{ I (rine

Of late with passions of some ditference,

Coneeptions only Proper to myself,

Which give some soil, perhaps. to my behaviours:

But /et not therefore my good friends be g red,

Nor constrie any further Wy seglect,

Than that poor Bratus, with himself

@t war,
Forgets the shows of love to other men.
Verla,
2. Parse the italicised wonrds in the forecoing Pitssigree,
Vealue 10,

3. State and illustrate the rule
number of the verh whep
= I-ll/lll

1. Give instances of Celtic, Latin and Danish remains
in the English language, and state for what cliasses of
words we  have adopted chietly Greck, Latin, and
French dervivatives, — Falue oo

2. Give the force of the atlixes : Hood, Tess, <o i
dom, en:illustrate vour answer by examples.  alu,

6. Give the derivation of : Sy nod,

treacle.  sunimerset, tansy.
Valve 13

that deter niines the

1its \Ii]l_%w tisa collective o,

cadivo, surceon,
hussy. custard. vival,

6. Give specitens of troches., T bus,

anapiest, amphi-
brach, and scan the follow ing:

“ When beggars die. there are no COMETS seeqy;
The heavens themselves blazeforth thedeath of princes,”
[Vll/r/r

QUESTION DEPARTMENT.

AL Co Mol The gross amount of a bill i~ =50

bt
after two successive discount

~at the same rate, the et
amount is 236,05 Find the rate of discount

.\'u],[nN- the question to be pesersed @ 1o Hnd wlhi

per cent, after twi siieressive additions, would iy,
=50, By the method of compound interest, it =360 0

wWere ‘_’i\(‘!l and also the- rittes the

amonnt  wonld

be found by addine the rate o Losquaringe the <unn and

then multiplying by 236,05 1o wer 250

Buat the <00
o Iyisidinge

o Extractineg the

1 given.  Therefore the Process Is revi

230 by =36.08, vou et 1OS50649

ar paassoout trong the

Purposes e

!
How is the

physiology,

PEED FDUCATTION AL REN W

| U \ Ml o oy Subitract 1 oand
o " | {1 oo It was added cach
tin sy S evident tha subtracted would
el e [ RN Fhieretore the rate was J,oor

" :

1 N \ Nereise s worked on the <ame principle
s tocbhe tonad i Hoaonbhin Smath s \rithinetie, Privue

) 970 Ex 0 [0S ot Wise, however, to Waste tine
okt t 1

netoranithmetical solutions tor Arebhran problems

] N BSCE TR Plesese wan

K the I(lzm\\ux'_’ question,

which s tound on Pt TZ0Nec b Haanbhin Siaeh s
e sold o wanel for G Bitth more than 1t
Cvost D to 1w he sold 10 to Ctor 236, which was one
quarter less than 1t cost lam Whae did the wateh
——

cost of wateh o I} san

! =i

W o =

\wian Pleostor watel to A =S

2 %

w hioler o o ~{0

H. S Gl Boerotem You will tind the <solution of

the problem asked for i the 1y VIEW of Nonvembwer, [RO4

SUBRCRIBER. WTohin spent 250 Jeos than + of his

money at one tme and at another 240 mope than & of
the remainder, and now s 20 Jeft How much had
heat first

If he had not spent the =40 more than 3 he would
have  had Ss0 gy But then having spent ¥ he had
theretopre th whole ‘{ 10 ]"f( arter ”N'

first spending I at tirst he hod spent the &R0 besides
the < he would have had leeft

Folefr =N

But if he had spent
1SN0 aut of the 2|

e would have had 260 op 1 of

what he b at tipeeg Fherefore he had 150

COEOMET N Lo T twar cides of o triangle are un
CUBAL e oat feom then point of interseetion three
stradcht Jin

e draw s namely, the hisector of the
n and the perpendicular to the
‘ . . .

bivse the tirst i inte rinedinte in position and macenitude

Yertreal angcle, the e

1 '
tor the Otler twa

[t R i thie 7!}.\!1;’:" ].v‘i AB e AC be t}lc‘
thae sidis, o which AR is the greaters Lot A1 Lo
perpendicular o e Lot AP by
ancle B A, and AN Ju thi

Then an A

And - DAL

It = ATy e
Thiretfor, . R

the bisector of the

tedian

complenent of ancle ACD.

# “ o ADBD.
Sreiater than o ABC
I~ dess than i DAL,
AT s reater than Lt the vertieal

\ |

vty

ithin th tmle PAC
Wathin thye :ln;'lv “.\]),
v AD Gand AN And by

Petween then aenitude,




